
% ααα 32 œ œ œ
Tempo di Valse lente q = 120

ο
œ œ œ 3 −˙ ˙ Œ

5-6

1 −˙
Ο

˙ Ιœ ‰
9-12

3Tempo di Valse q = 160
˙ œ,

Ο

% ααα
14 œ, œ !− ‰ ιœ 15 −˙ ˙ Œ

17-19

2 Œ Œ œ
Ο

21œ, œ, œ, œ œ œ −œµ Ιœ
rall.

−=̇ 24˙ Œ ˙ œ
Ο
a tempo

dolce espressivo

% ααα
26 −˙ 27˙ œ −˙ ˙ œ 30œ, œ, œ,

−˙ −˙ 33̇ œ œ, œ, œ, −˙
ε

% ααα µ αα36 œ œ œrall. −˙
ο

−˙ 39 −˙ œ Œ Œ Œ œ œ œ∀ œ
Ο

Poco animato
a tempo q = 160

42 −˙ œ Œ Œ ∑ 45Œ œµ œ œ œ

% αα46 −˙
cresc.

œ Œ Œ 48 ∑ Œ œ œ œ œΕ
−˙ 51 −˙

ε
œ Œ Œ Œ œ œ œ œΟ

54 −˙ −˙
ε

% αα ααα
56 œ Œ Œ

57-64

7
−˙µΕ

66

−˙ −˙ œ Œ Œ 69 ∑ Œ œ œ œ œ
Ο

−˙ 72œ Œ Œ

% ααα
73-76

3 ˙ œ,
Ο

78œ, œ !− ‰ ιœ −˙ ˙ Œ
81-83

2 84Œ Œ œ
Ο

œ, œ, œ, œ œ œ −œµ Ιœ
87 −=̇

% ααα
88 ˙ Œ ˙ œ

Ο
90 −˙ ˙ œ −˙ 93˙ œ œ, œ, œ,

−˙ 96 −˙ ˙ œ
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% ααα αααα98 œ, œ, œ, 99 −˙ œ œ œ −˙ 102 −˙ −˙ œ Œ Œ
105-120

05
−Ε̇ œµ œ œ

% αααα123 −˙ −˙
125-134

0/ 135œ œ œ
Ε

œ œ œ −˙
a tempo

ο
138

œ œ œ −˙ −˙ 141 −˙

% αααα142 œ œ œ −˙
144 −˙ −ο̇ œ œ œ 147 −˙ œ œ œ −˙ 150œ œ œ −˙

% αααα152

−˙
153-156

3 −π̇
œ œ œ 159 −˙µ

cresc.

−˙ −˙
Ε

162œ œ œ −=̇ε
−˙α

dim.

% αααα µ ααα
165

−˙ −˙ −˙ 168œ Œ Œ œ œ œ
Tempo di Valse lente q = 120

ο
œ œ œ 171 −˙ ˙ Œ

173-174

1 −˙
Ο

% ααα
176 ˙ Ιœ ‰

177-180

3Tempo di Valse q = 160
˙ œ,

Ο
œ, œ !− ‰ ιœ 183 −˙ ˙ Œ

185-187

2 Œ Œ œ 189œ, œ, œ, œ œ œ −œµ Ιœ

% ααα
191 −=̇rall.

192˙ Œ ˙ œ
Ο dolce espressivo

a tempo q = 160−˙ 195˙ œ −˙ ˙ œ 198œ, œ, œ,
−˙ −˙

% ααα
201 ˙ œ œ, œ, œ, −˙

ε
204œ œ œ

ο
−˙ −˙

207Œ =̇
ƒ

Con fuoco

Œ œ= œ= Œ =̇ 210Œ =̇

% ααα 75
211 œ= œ= œ= œ= œ= œ=

213

œ=
Œ Œ Œ ≈ Θœ −œ=

Largo

ƒ
pesant et marqué

Œ ≈ Θœ −œ= 216 −˙
Ï

Ιœ] ‰ ‰ Œ −
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